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Intro

Today we will 7"pa learn v"p 97 of M2’ NOON
The topics we will learn about include.

If a person divorced his wife and then remarried her and
died childless, there’s a np>nn whether there still is a mzn
7X°9m 12 or not

The Shaila of whether

noon A

The Yibum situation is created at the time of nn».

OR

D200 DIVRIT PRIV]

The original marriage creates a potential Yibum situation
- even though the actual 75’03 occurs only at nn.

YRS TV IV PR

If something is only 71O because of a 7713, we generally
don’t make another thing 17ox as a 7713 to avoid the
original 771

There is a 3 way np>n» in a case where 2 brothers, 2187
1Ynwy, were married to 2 sisters, 8 57, and i was a
mvp who was married off by her mother or brother which
makes the marriage only valid 13277, while N8> was a
1917, which is a marriage X RTH, AND

973 S0 nSYa N

And py»w passed away without children

The problem is:

Leabh falls for xn»x7 012 before Ruvain, because her
marriage to Shimon was Xn»7R7». Ruvain cannot be
Meyabem Leah, because she is 13277 1nwR MmNy, but she’s
not nx*5mn w9, because an 132771 MY cannot exempt a
RN7IRTH 2 M. If he gives her Chalitzah, his wife
Rochel becomes 71oR to him as x>0 mnr. Actually, his
wife Rochel is immediately mox to him as npipt minx.
Therefore, as Rashi writes;

Y

What should they do???

The Gemara cites a Braisa;
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So let's review

Our Shiur begins with a new Mishnah:

MW T OPRL

A0 TWUNRD DR WA

If a person divorced his wife, then remarried her and died
childless - There’s a npomn. The xop Rin holds

02b N

She may do Yibum.

JOIR NYHR 727

She may not do Yibum.

The mwn presents a similar case:

pakiiaiibyralisiabeh &Rblan Rl

If a person divorced a i’ that was given into marriage
by her mother or brother, which makes the marriage only
112771, and then remarried her; the X»p Rin holds

oY N

JOIX TYOR 12

The mwn concludes with a case where everybody agrees
that 02°> nmoR:

JUPNN AR ARVAY 7I0P

A minor whose father married her off, which is a marriage
Rn»MRTH, and she then got divorced;

AR [ AN

She is like an orphan, in that she has left her father’'s mw-,
and he no longer has the ability to marry her off.

anm

If the husband then remarries her while she is still a minor,
which is a marriage merely 13277

02> TMOR HON 12T

Everybody agrees that she may not do Yibum, because,
R NRTH she is a w1 of her deceased husband, and she
may not marry his brother because of the

PR DUR NNOR
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If a person divorced his wife,
remarried her and then died childless
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If a person divorced a N1 who was

given to marriage by her mother or brother,

which makes the marriage only )22,
and then remarried her

2y > %
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A minor whose father married her off,
which is a marriage NDMINTD,
and she then got divorced

2N Y2 ANt

She has left her
father’s MmN,
and he no longer
has the ability to
marry her off

aiiata)

If the husband then
remarries her while
she is still a minor,
the marriage is
merely )220TD
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The ) presents 3 ways of understanding the Xin npb>mn
TYHR 127 Rp as follows:

»aR explains:

The xnp R0 holds

noon D

The Yibum situation is created at the time of nn».
Therefore, since at the time of the husband’s death there’s
a2 mxn, she is 025 nmn.

However, 715X '27 is uncertain whether we say

noon A

Or

D200 DIVRIT PRIVS

The original marriage creates a potential Yibum situation
- even though the actual 75’03 only occurs at the time of
nr». Therefore, at the time of the marriage she potentially
fell for Yibum. When they later divorced and there was no
longer a potential 02 mx», she became MOX to her
husband’s brother as an mz» DpH2 RH>w MR MWK, When
they remarried, a new potential Yibum situation was
created. However, she is 025 77108, because of the earlier
X NWR WO°R. Because of this poo

TMYOR 27 holds that she is

D2'Y 1OR

But

PI5n> narn

N1 explains the np>mn as follows

Everybody agrees that nbon nm», and therefore, the Rin
x»p holds 025> mamn. However, 71058 737 holds that there
is a7 in a case of where the husband died the morning
after they remarried.

POITAA PR 5N

Everybody knows that they had gotten divorced.

W02 PR 50 PRI

But not all are aware that they remarried. Some people
might think that there is Yibum for ynx nw1), which in
fact is an NR NWR MO, Therefore, she is 02’5 TMOR in all
cases of remarriage.

"W 17 offers a third explanation of the Machlokes:

The x»p Rin holds that since nHom 7m» she is 0 NMn
MWY5R 17 holds

pnkip

APINM AR 7N IO DWON

If she is 025 nmn in the first 2 cases of our Mishnah,
people will think she is 2> nnw even in the 3rd case of
our mwn» of a mvp who remarried her husband to whom
she was originally married by her father, where there’s an
MR NWR MO'R.

The X713 concludes that our Mishnah and a Braisa support
the explanation of "wR 17
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The X2 proceeds to the next 3wn»

710N 7T VPRI

MIVP PR NWY PRIVI PR I

If 2 brothers, py»w1 j2187, were married to 2 orphaned
sisters, N1 9177, a marriage only 133777

17 nnR Sw Adva nm

And ;1187 passed away without children.

TR MAR DIWPH REN 17

5 is free from 7%°5m 12’ to Shimon since 132775 she is an
MW to him.

The reason for this is, since the marriage itself is only
132770 the resulting n%°5m o2 mzn s also only 132770, of
which she is M09 even from 1351 because of 133771 Y.

Similarly,

MmN Y

So too, if 2 brothers, pYoW1 2187, married 2 sisters, IR 51,
who were both deaf-mutes - The same Halachah applies,
because, their marriage is only 131277n.

The mwn now presents a case where the 7 is different:
0P T

Two brothers, pw»wi 12187, were married to 2 sisters, 517
N> respectively.

5m7 was a mvp who was married off by her mother or
brother, her marriage to Ruvain only 1312771, while i85 was
a7, and her marriage to Shimon R IRTY;

It depends;

0P YW HYa nn

Ify21%7 passed away childless

TWR MR DWH TI0PN RIN

51 is free from 7x°5m D12 since she is an MY to PYPY
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9773 5w nSva o
If pypw passed away childless -

Rashi clarifies the problem at this point:

Leah falls for xn»mx7» 012> before Ruvain, because her
marriage to Shimon was Xn»X7». Ruvain cannot be
Meyabem Leah, because she is 132772 1nwWR MmN, but she'’s
not x5 709, because an 132971 MIY cannot exempt a
RNIRTH 2 M. If he gives her Chalitzah, his wife
Rochel becomes 710X to him as 1nx>n minr. Actually, his
wife Rochel is immediately mox to him as inpipt minx.
Therefore, as Rashi writes;

WY AN

What should they do???

The Mishnah presents 3 opinions:

TR PR 727

12 IRDOW AI0PA DR ]’TDL)D

We teach 5n7 to do jw'n, which annuls her marriage to
1IR3 retroactively, and 21871 may then be Meyabem ninb.

MR OSNOD 127

IR TIND OR

YTA0W TV PN IRD DR

We do not teach a woman to do )X’ Rather, if Rochel
does not do px'» on her own, we wait until she becomes a
79173 when her marriage to 12187 becomes R IIRTY;

TOR MAR DWW 157 RIM

And then 7R is completely Mo from nx’>m o2, because
she is an Xn”7IR7 7M7Y to Ruvain.

IR VWP 12T

MR 5V 15 R

PAR DWR 5V 19N

Since 12187 is forbidden to both 7X%1 5m7, as explained
earlier - and since we do not instruct a woman to do px»;
VI INWR MR R'IIM

7%°513 PR TUR)

287 must divorce Rochel, and give nx'5m to Leah,

AN NN Sy
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. The xm3 asks on 715K '3 that said that we teach Sna to
do pxo;
BRI O /e e,
Is it permitted to teach a woman to do pr1? Ve akialek XV >
But we learned MR OP RN N IR ER P
DM27 nw‘;w: DR P27 DO PR KAl e pbiviaPaly
D27 WOWN PrnT
A person should seek to do the following three things: AN NN '71’ 5,1an W 2 ?Rbnw
35n 4@ Wl nt 2y when her marriage

obw nran, make peace between people; and
0771 797, annul any vows

And distance himself from the following three;
PR

mnTpo, accepting things for safekeeping; and
mn17Y, being a guarantor

The X902 answers;

IRW MIOT PIRD

219K '27 holds that this case is different, because it will
lead to a Mitzvah

The x3 proceeds to explain the opinion of HR°511 127
IR RD DRI
DTN TY PN
TWR NINR DWW BT R¥M

. What happens when Rochel becomes a 1517, to transform
her marriage to j2)X7 into a RnN»7RT, to completely exempt
Leah from n¥°5m 012’ as an RN MRT MY to Ruvain?

The Gemara presents two possible explanations:

-‘| -

10 RN MIVR WITR 720p

1772°5T 5T )

Rabban Gamliel holds that the marriage of a mvp is
pending until she becomes a 717, when it takes effect j»
annn,

SYaR>T 5 9N

Even if she did not cohabit with her husband after
becoming a 7517

Therefore, as soon as Rochel becomes a 75173, her
marriage to 2187 automatically becomes XRn» x5, and
AR is then completely Mvo from nx°5m 012’ as an M
RN7IRT to Ruvain.,

A second explanation;

A MAR WIRRR 110p

15 7o5m nn 17003

Rabban Gamliel holds that if a Yavam is w7pn the sister

of his 7, the Yavamah becomes 71109 from 12°>m o2 as

an Ervah of 'nwr mnx.

According to this explanation;

PRYYIOR

RS 5paRY R
‘ If Ruvain and Rochel cohabited after she became a 75173, a

new pWITp takes effect RN X7, and X5 is then
completely Moo from nx°5m D12’ as an RN NIRT W to
Ruvain.
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